dXLFI7

W /\vo/\1k
4/00—INy?
5/3RILINyT
6/1N\AINyY

W 7—LA
N/7—LLX
P/BEE T —L
H/ &35RE 7 — L

L

G1/7Z771k

CRB/#H—#H>
98/R&TFRTAb

B FvRA5—

BKS/#H—~vhH

SC8/E2 K. h—~vhH

J/=TT7 =L L7/2N—7a4
H/\fkLVY H JU—L B "—2Z B 7—LI/\WR
2/RZHE =R Y G1/95771b G1/9Z5771k BK/7ZvY
CRB/fH—H> CRB/#—HK> CRB/#—HK>
98/RZT# KT/ VPR/3%5)V VPR/2xZ)V
H FILb 5Y/€3IR)va
S/F—hN—FZyTFIVE DN2/F1h74—Jb
Y/YFIN (T FIVN) DB3/JLA Y+~ B V5—tTr
DR1/¥+=#> 84501/75 774k
W J—hE{T 84502/ H—+K>
F/EE 84503/3% 7V
84504/ F 74—
84505/ LA v—
84506/F v=A>
S—h8&J W AV — TN ARV 3V (AR T AT VIS AN —)
~R—2(G1, CRB, VPR): A5t ADF OV
~N—2X(BY, DN2, DB3, DR1): ZIL=F1F+Rhk
IST7ANTU—L
2 aE Fh BB 7-L Jb-h Wvy= A=A F0RE— ToR U5t /¥
MRy T—LUA FLC1 6 2 [ F N G1 Gi/L7 G1/5Y [0 845xx 177,000
BE7—L FLC1 6 2 [ F P G1 Gi/L7 G1/5Y OO0 845xx 189,000
IARNTIRT TV~ Ls FLC1 6 2 [ F H G1 Gi/L7 G1/5Y [ BK 845xx 200,000
U=J7—I FLC1 6 2 [ F J Gl Gi/L7 Gi/5Y [0 845xx 205,000
SRV P—LUA FLC1 5 2 [ F N G1 Gi/L7 G1/5Y [0 845xx 167,000
BE7—L FLC1 5 2 [ F P G1 Gi/L7 Gi/5Y OO 845xx 179,000
INARNTIPRT TV~ L FLC1 5 2 [ F H G1 Gi/L7 G1/5Y [ BK 845xx 190,000
Y—=T7—1 FLCt 5 2 [ F J Gl Gi/L7 Gi/5Y [0 845xx 195,000
O-\yo P—LUR FLC1 4 2 [ F N G1 Gi/L7 G1/5Y OO0 845xx 160,000
EE7—L FLC1 4 2 [ F P G1 Gi/L7 G1/5Y OO 845xx 172,000
IARNPIPRTTIVT— L FLC1 4 2 [ F H G1 Gi1/L7 G1/5Y [ BK 845xx 183,000
U—T7—1 FLC1 4 2 [ F J Gl Gi/L7 Gi/5Y OO 845xx 188,000
Iry— G1 +0
L7 +4,000
R—=2 G1 +0
5Y  +18,000
FyR5— BKS +0
SC8  +6,000

f— 750 —| f——680——|




H—MUITU—LA

o7 IIE FN BB 7oL Jh-h vpy- A= Tob fyg-thh (/¥
1o P—LUZ FLC1 6 2 [1 F N CRB CRB/L7 CRB/5Y 845xx 183,000
BE7—L FLC1 6 2 [1 F P CRB CRB/L7 CRB/5Y 845xx 194,000
JNPIPRZTNF—L  FLC1 6 2 [1 F H CRB CRB/L7 CRB/5Y CRB 845xx 206,000
U—T7—Ls FLC1 6 2 [1 F J CRB CRB/L7 CRB/5Y 845xx 211,000
SRS P—LLZ FLCi 5 2 [1 F N CRB CRB/L7 CRB/5Y 845xx 173,000
BE7—L FLC1 5 2 [1 F P CRB CRB/L7 CRB/5Y 845xx 184,000
JNPYPRZTNP~L  FLC1 5 2 [] F H CRB CRB/L7 CRB/5Y CRB 845xx 196,000
U=T7—1 FLC1 5 2 [] F J CRB CRB/L7 CRB/5Y 845xx 201,000
O-/ws P—LLZ FLCi 4 2 [1 F N CRB CRB/L7 CRB/5Y 845xx 166,000
BE7—L FLCi 4 2 [1 F P CRB CRB/L7 CRB/5Y 845xx 178,000
JMKNPUYRZINF—L  FLC1 4 2 [0 F H CRB CRB/L7 CRB/5Y CRB 845xx 189,000
U—T7—1 FLCi 4 2 [1 F J CRB CRB/L7 CRB/5Y 845xx 194,000
CRB +0
L7 +4,000
CRB +0
5Y  +18,000
BKS +0
SC8  +6,000

ARYIFIRTANT—L
o7 N FUh BB -k Jb-h v~ AR ToR qvs-tih /¥
IMIws P—LUZ FLC1 6 2 [ F N 98 98/L7 VPR/5Y 845xx 185,000
BE7—L FLC1 6 2 [1 F P 98 98/L7 VPR/5Y 845xx 196,000
JMKPUYRGINF—L  FLC1 6 2 [1 F H 98 98/L7 VPR/5Y VPR 845xx 208,000
U—T7—1 FLC1 6 2 [1 F J 98 98/L7 VPR/5Y 845xx 213,000
SRIIYY =L FLC1 5 2 [1 F N 98 98/L7 VPR/5Y 845xx 175,000
BE7—L FLC1 5 2 [1 F P 98 98/L7 VPR/5Y 845xx 186,000
JUNPIPRSTNF—L  FLC1 5 2 [0 F H 9 98/L7 VPR/5Y VPR 845xx 198,000
U—T7—1 FLC1 5 2 [ F J 98 98/L7 VPR/5Y 845xx 203,000
O—/%ws P—LLZ FLC1 4 2 [1 F N 98 98/L7 VPR/5Y 845xx 168,000
BE7—L FLC1 4 2 [1 F P 98 98/L7 VPR/5Y 845xx 180,000
JUNPIPRSTNF—L  FLC1 4 2 [ F H 9 98/L7 VPR/5Y VPR 845xx 191,000
U=T7—Ls FLC1 4 2 [0 F J 98 98/L7 VPR/5Y 845xx 196,000
98 +0
L7 +4,000
VPR +0
5Y  +18,000
BKS +0
SC8  +6,000




FAVIN A AS—FARTA—=Ib

2 b Fus BB 7P-h Jb-h wwY- R=R FvR9- U5t flii/Y
IMINyY P=bUA FLC3 6 2 [J F N DN2 DN2 DN2 O2N 84504 204,000
BE7—L FLC3 6 2 [J F P DN2 DN2 DN2 O2N 84504 215000
I PYYRZINVP—L  FLC3 6 2 [J F H DN2 DN2 DN2 O2N 84504 226,000
U=J7—L FLC3 6 2 [J F J DN2 DN2 DN2 O2N 84504 232,000
SRS P—LUR FLC3 5 2 [J F N DN2 DN2 DN2 O2N 84504 193,000
BET7—L FLC3 5 2 [J F P DN2 DN2 DN2 O2N 84504 205000
IMNPYYAZIVP—L  FLC3 5 2 [J F H DN2 DN2 DN2 O2N 84504 216,000
U=J7—L FLC3 5 2 [J F J DN2 DN2 DN2 O2N 84504 222,000
O-/\vy P—LUZ FLC3 4 2 [J F N DN2 DN2 DN2 O2N 84504 187,000
BE7— L FLC3 4 2 [J F P DN2 DN2 DN2 O2N 84504 198,000
IMNPYYAZIVP—L  FLC3 4 2 [J F H DN2 DN2 DN2 O2N 84504 210,000
U=T7—L FLC3 4 2 [J F J DN2 DN2 DN2 02N 84504 215000
TAvIN AV DS— T —
R a5 Fus BB 7-h Jb-h vwv- AR F4RS—  (U5-toh (/¥
IMI\yY P=BUA FLC3 6 2 [J F N DB3 DB3 DB3 02B 84505 204,000
BET7—L FLC3 6 2 [J F P DB3 DB3 DB3 02B 84505 216,000
IMNPYYAZINP—L  FLC3 6 2 [J F H DB3 DB3 DB3 02B 84505 226,000
U—J7—L FLC3 6 2 [J F J DB3 DB3 DB3 02B 84505 232,000
SRIVINYY P—LUA FLC3 5 2 [J F N DB3 DB3 DB3 02B 84505 193,000
BET7—L FLC3 5 2 [J F P DB3 DB3 DB3 02B 84505 205000
IMNPYYAZINVP—L  FLC3 5 2 [J F H DB3 DB3 DB3 02B 84505 216,000
U=J7—L FLC3 5 2 [J F J DB3 DB3 DB3 02B 84505 222,000
O-/\vy P—LUZ FLC3 4 2 [J F N DB3 DB3 DB3 02B 84505 187,000
BE7— L FLC3 4 2 [J F P DB3 DB3 DB3 02B 84505 198,000
IMNPYYAZIVP—L  FLC3 4 2 [J F H DB3 DB3 DB3 02B 84505 210,000
U=T7—L FLC3 4 2 [J F J DB3 DB3 DB3 02B 84505 215000




FTavINAY AS—Fv=HY

2 bah Fus BB 7-h Jb-h YvY-  R-R FvRS- qU5-th /¥
M\ P—=LUA FLC3 6 2 [ F N DRt DR1 DR1 O2R 84506 204,000
BE7— L FLC3 6 2 [1 F P DRt DR1 DRI O02R 84506 215,000
JANPIYRZTIP—L  FLC3 6 2 [0 F H DRt DR1 DR1 O2R 84506 226,000
U=TJ7—1 FLC3 6 2 [1 F J DRt DR1 DR1 O02R 84506 232,000
SN RSN FLC3 5 2 [J F N DRt DRl DRI O2R 84506 193,000
BE7— L FLC3 5 2 [0 F P DRt DR1 DR1 O02R 84506 205,000
JIANPIYRZTP—L  FLC3 5 2 [0 F H DRt DRt DR1 O2R 84506 216,000
U=J7—1 FLC3 5 2 [ F J DRt DR1 DR1 O2R 84506 222,000
O—/\ys  7—LUZR FLC3 4 2 [J F N DRt DRl DRI O2R 84506 187,000
BE7—L FLC3 4 2 [J F P DRt DRl DRI 0O2R 84506 198,000
JIANPIPAZTIP—L  FLC3 4 2 [0 F H DRt DRt DR1 O2R 84506 210,000
U=J7—1 FLC3 4 2 [0 F J DRt DRt DRI O2R 84506 215,000
[OXLFI7HBESDRTA]
FLCT 6 2 S F N G1 GI G1 BKS 845xx
FLC3 6 2 S F N DN2 DN2 DN2 02N 84504
o] H W
I IINA FPRF—
A LYY NR—2Z
FIUk P
>—hEA =L

7=






